

Solutions Of Heat Equation Arrived From q -Difference Operator

G.Britto Antony Xavier¹, S.John Borg² and B. Govindan³

^{1,2,3}Department of Mathematics, Sacred Heart College, Tirupattur - 635601, Vellore District Tamil Nadu, S.India.

ABSTRACT

Abstract: An investigation of heat equation as a model of partial difference operator is carried out in this paper. Here, we introduce solutions of the heat equation obtained by generalized q -difference equation with and without variable coefficients. The propagation of heat is studied under diverse circumstances and relevant conclusions are derived. Suitable Examples are inserted to validate our main results

Key words: Difference equation, Generalized difference operator and Heat equation.

AMS classification 2015: 39A70, 39A10, 47B39, 80A20.

Date of Submission: 15-12-2017

Date of acceptance: 23-12-2017

I. INTRODUCTION

In 1984, Jerzy Popenda [1] introduced the difference operator Δ_α defined on $u(k)$ as $\Delta_\alpha u(k) = u(k+1) - \alpha u(k)$. In 1989, Miller and Rose [2] introduced the discrete analogue of the Riemann-Liouville fractional derivative and proved some properties of the inverse fractional difference operator $\Delta_h^{-\nu}$ [3,4]. The sum of m^{th} partial sums on n^{th} powers of arithmetic, arithmetic-geometric progressions and products of n consecutive terms of arithmetic progression have been derived using $\Delta_\ell^{-m} u(k)$, where $\Delta_\ell u(k) = u(k+\ell) - u(k)$ [6]. In 2011, M.M.S.Manuel, et.al, [5], extended the definition of Δ_α to $\Delta_{\alpha(\ell)}$ as $\Delta_{\alpha(\ell)} v(k) = v(k+\ell) - \alpha v(k)$, for the real valued function $v(k)$ and $\ell > 0$. In 2014, G.Britto Antony Xavier, et.al, [7], have introduced q -difference operator defined as $\Delta_q v(k) = v(qk) - v(k)$ for the real valued function $v(k)$, $q \in (0, \infty)$ and obtained finite series solution to the corresponding generalized q -difference equation $\Delta_q v(k) = u(k)$.

For n -variable real valued function $v(k_1, k_2, \dots, k_n)$, the generalized q -difference operator is defined as

$$\Delta_{q_1 \wedge q_2 \wedge \dots \wedge q_n} v(k) = v(k_1 q_1, k_2 q_2, \dots, k_n q_n) - v(k_1, k_2, \dots, k_n), \quad (1)$$

where $k = (k_1, k_2, \dots, k_n) \in R^n$, $v(k) : R^n \rightarrow R$ and $q_1 \wedge q_2 \wedge \dots \wedge q_n$.

For example $\Delta_{q_1 \wedge q_2} v(k_1, k_2) = v(k_1 q_1, k_2 q_2) - v(k_1, k_2)$.

II. PRELIMINARIES

Consider, the two side temperature distribution of a very long rod. Let $v(k_1, k_2)$ be the temperature at the real time k_2 and real position k_1 of the rod. At time k_2 , if the temperature $v(\frac{k_1}{q_1}, k_2)$, $q_1 > 0$ is higher than $v(k_1, k_2)$, heat will flow from the point $\frac{k_1}{q_1}$ to k_1 . Similarly, at time k_2 , if the temperature

$v(k_1q_1, k_2), q_1 > 0$ is higher than $v(k_1, k_2)$, heat will flow from the point k_1q_1 to k_1 .

The amount of increase $v(k_1, k_2q_2) - v(k_1, k_2)$ is proportional to the differences $v(\frac{k_1}{q_1}, k_2) - v(k_1, k_2)$ and

$v(k_1, k_2q_2) - v(k_1, k_2)$. Let α is a positive diffusion rate constant of the rod. Then the q -heat equation is given by

$$v(k_1, k_2q_2) - v(k_1, k_2) = \alpha(v(\frac{k_1}{q_1}, k_2) - v(k_1, k_2)) + \alpha(v(k_1q_1, k_2) - v(k_1, k_2)),$$

$$(i.e) \Delta_{1 \wedge q_2} v(k_1, k_2) = \alpha \Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) + \alpha \Delta_{q_1 \wedge 1} v(k_1, k_2). \quad (2)$$

If $v(k_1, k_2) = k_2k_1$ is the solution of (2), then the value of α is, $\alpha = \frac{1 - 2q_1 + q_1^2}{q_1(q_2 - 1)}$. Similarly, q -Heat

equation for the variable coefficient is defined as,

$$\Delta_{1 \wedge q_2} v(k_1, k_2) = \alpha(k_2, k_1) \Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) + \alpha(k_2, k_1) \Delta_{q_1 \wedge 1} v(k_1, k_2), \quad (3)$$

where $\alpha(k_2, k_1)$ is a function of k_1 and k_2 . If $v(k_1, k_2) = k_2k_1$ is a solution of (3) then the value of

$$\alpha(k_2, k_1) \text{ is } \alpha(k_2, k_1) = \frac{1 - 2q_1 + q_1^2}{q_1(q_2 - 1)}.$$

III. q -HEAT EQUATION WITH CONSTANT COEFFICIENT

In this section we derive a solution of equation (2) and also we obtain a function $v(k_1, k_2)$ satisfying the equation (2).

Theorem 3.1.1 If $\Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) = u_{q_1^{-1}}(k_1, k_2)$ and $\Delta_{q_1 \wedge 1} v(k_1, k_2) = u_{q_1}(k_1, k_2)$ are known functions. Then

the q -heat equation has a solution

$$v(k_1, k_2) - v(k_1, \frac{k_2}{q_2^m}) = \alpha \sum_{r=1}^m \left\{ u_{q_1^{-1}}(k_2q_2^{-r}, k_1) + u_{q_1}(k_2q_2^{-r}, k_1) \right\}. \quad (4)$$

Proof. From the linearity of Δ_{q_1, q_2}^{-1} and (2), we have

$$v(k_1, k_2) = \alpha \Delta_{1 \wedge q_2}^{-1} \left(\Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) + \Delta_{q_1 \wedge 1} v(k_1, k_2) \right). \quad (5)$$

Now the proof of (4) follows by taking $\Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) = u_{q_1^{-1}}(k_1, k_2)$ and

$$\Delta_{q_1 \wedge 1} v(k_1, k_2) = u_{q_1}(k_1, k_2).$$

Theorem 3.2.2 If $v(k_1, k_2)$ is a solution of q -heat equation (2), then the following four relations are equivalent:

$$(i) v(k_1, k_2) - v(k_1, \frac{k_2}{q_2^m}) = \alpha \sum_{r=1}^m \left[v(\frac{k_1}{q_1}, k_2q_2^{-r}) + v(k_1q_1, k_2q_2^{-r}) - 2v(k_1, k_2) \right]. \quad (6)$$

$$(ii) v(k_1, k_2) = \frac{1}{(1-\alpha)^m} v(k_1, k_2 q_2^m) - \sum_{r=1}^m \frac{\alpha}{(1-\alpha)^r} \left(v\left(\frac{k_1}{q_1}, k_2 q_2^{r-1}\right) + v(k_1 q_1, k_2 q_2^{r-1}) \right). \quad (7)$$

$$(iii) v(k_2, k_1) = \frac{1}{1-2\alpha} v(k_1, k_2 q_2) - \frac{\alpha}{1-2\alpha} v(k_1 q_1, k_2) - \frac{\alpha}{(1-2\alpha)^{m+1}} v\left(\frac{k_1}{q_1}, k_2 q_2^m\right) + \sum_{r=1}^m \frac{\alpha^2}{(1-2\alpha)^{r+1}} \left\{ v\left(\frac{k_1}{q_1^2}, k_2 q_2^{(r-1)}\right) + v(k_1, k_2 q_2^{(r-1)}) \right\}. \quad (8)$$

$$(iv) v(k_2, k_1) = \frac{1}{1-2\alpha} v(k_1, k_2 q_2) - \frac{\alpha}{1-2\alpha} v\left(\frac{k_1}{q_1}, k_2\right) - \frac{\alpha}{(1-2\alpha)^{m+1}} v(k_1 q_1, k_2 q_2^m) + \sum_{r=1}^m \frac{\alpha^2}{(1-2\alpha)^{r+1}} \left\{ v(k_1, k_2 q_2^{(r-1)}) + v(k_1 q_1^2, k_2 q_2^{(r-1)}) \right\}. \quad (9)$$

Proof. From the q -difference Heat equation (2), we have

$$v(k_1, k_2 q_2) - v(k_1, k_2) = \alpha \left[v\left(\frac{k_1}{q_1}, k_2\right) - v(k_1, k_2) \right] + \alpha [v(k_1 q_1, k_2) - v(k_1, k_2)]$$

$$v(k_1, k_2) = \frac{1}{1-2\alpha} v(k_1, k_2 q_2) - \frac{\alpha}{1-2\alpha} v\left(\frac{k_1}{q_1}, k_2\right) - \frac{\alpha}{1-2\alpha} v(k_1 q_1, k_2). \quad (10)$$

(i) Replacing k_2 by $\frac{k_2}{q_2}$ in (10), we get (6).

(ii) Replacing k_2 by $k_2 q_2$ in (10), continuing the same process we get (7).

(iii) Replacing k_1 by $\frac{k_1}{q_1}$ in (10), we get (8).

(iv) Replacing k_1 by $k_1 q_1$ in (10), we get (9).

Corollary 3.3.3 Let k_1, k_2 and $q_2 \neq 0$ and $q_2 \neq 1$. Then, we have

$$\left\{ \frac{k_1 + k_2}{q_2 - 1} + \frac{\log(k_1 k_2)}{\log q_2} \right\} - \left\{ \frac{k_1 + \frac{k_2}{q_2^m}}{q_2 - 1} + \frac{\log \frac{(k_1 k_2)}{q_2^m}}{\log q_2} \right\} = \sum_{r=1}^m \left\{ (k_2 q_2^{-r}) + 1 \right\}. \quad (11)$$

Proof. Taking $v(k_1, k_2) = \frac{k_1 + k_2}{q_2 - 1}$, $u(k_1, k_2) = k_2$, $w(k_1, k_2) = 1$ in (4), we get the proof of (11).

Example 3.4.4 Taking $k_1 = 0.3$, $k_2 = 0.2$, $q_2 = 2$ and $m = 2$ in (11), we have $2.15 = 2.15$

Corollary 3.5.5 Let $1-2\alpha \neq 0$, $q_1 \neq 0$. Then, we have

$$k_1 k_2 = \frac{1}{(1-2\alpha)^2} (k_1 k_2 q_2^2) - \frac{\alpha}{(1-2\alpha)^2} \left(\frac{k_1}{q_1} k_2 q_2 \right) - \frac{\alpha}{(1-2\alpha)^2} (k_1 q_1 k_2 q_2) - \frac{\alpha}{(1-2\alpha)} \left(\frac{k_1}{q_1} k_2 \right) - \frac{\alpha}{(1-2\alpha)} (k_1 q_1 k_2). \quad (12)$$

Proof. The proof of (12) follows by taking $v(k_1, k_2) = k_1 k_2$ and $m = 2$ in (7).

Example 3.6.6 Taking $k_1 = 4, k_2 = 2, q_2 = 2, q_1 = 3$ in (12), we get $8 = 8$.

Corollary 3.7.7 Let $1 - 2\alpha \neq 0, q_1 \neq 0$. Then we have

$$k_1 k_2 = \frac{1}{1-2\alpha} (k_1 k_2 q_2) - \frac{\alpha}{(1-2\alpha)^2} \left(\frac{k_1}{q_1} k_2 q_2 \right) + \frac{\alpha^2}{(1-2\alpha)^2} \left(\frac{k_1^2}{q_1} k_2 \right) + \frac{\alpha^2}{(1-2\alpha)^2} (k_1 k_2) - \frac{\alpha}{1-2\alpha} (k_1 q_1 k_2). \quad (13)$$

Proof. Taking $v(k_1, k_2) = k_1 k_2$ and $m = 1$ in (12), we get the proof of (13).

Example 3.8.8 Taking $k_1 = 4, k_2 = 2, q_2 = 2, q_1 = 3$ in (13), we get $8 = 8$.

Corollary 3.9.9 Let $1 - 2\alpha \neq 0, q_1 \neq 0$. Then we have

$$k_1 k_2 = \frac{1}{1-2\alpha} (k_1 k_2 q_2) - \frac{\alpha}{(1-2\alpha)} \left(\frac{k_1}{q_1} k_2 \right) - \frac{\alpha}{(1-2\alpha)^2} (k_1 q_1 k_2 q_2) + \frac{\alpha^2}{(1-2\alpha)^2} (k_1 k_2) + \frac{\alpha^2}{1-2\alpha^2} (k_1 q_1^2 k_2). \quad (14)$$

Proof. The proof of (14) follows by taking $v(k_1, k_2) = k_1 k_2$ and $m = 1$ in (9).

Example 3.1010 When $k_1 = 4, k_2 = 2, q_1 = 3, q_2 = 2$, in (14), we get $8 = 8$.

IV. q -HEAT EQUATION WITH VARIABLE COEFFICIENT

In this section we derive a solution of q -heat equation with variable coefficient of (3) and also we obtain a function $v(k_1, k_2)$ satisfying the equation (3).

Theorem 4.1.11 If $v(k_1, k_2)$ is a solution of equation (3) with variable coefficients. Then the following relations are equivalent

$$(i) v(k_1, k_2) - v(k_1, \frac{k_2}{q_2^m}) = \alpha(k_1, k_2) \sum_{r=1}^m \left[v\left(\frac{k_1}{q_1}, k_2 q_2^{-r}\right) + v(k_1 q_1, k_2 q_2^{-r}) - 2v(k_1, k_2) \right]. \quad (15)$$

$$(ii) v(k_1, k_2) = \frac{1}{\prod_{r=1}^m [1 - 2\alpha(k_1, k_2 q_2^{r-1})]} v(k_1, k_2 q_2^m) - \sum_{r=1}^m \frac{\alpha(k_1, k_2 q_2^{r-1})}{\prod_{s=1}^r [1 - 2\alpha(k_1, k_2 q_2^{s-1})]} \left(v\left(\frac{k_1}{q_1}, k_2 q_2^{r-1}\right) + v(k_1 q_1, k_2 q_2^{r-1}) \right) \quad (16)$$

$$\begin{aligned}
 \text{(iii) } v(k_1, k_2) &= \frac{1}{1-2\alpha(k_1, k_2)} v(k_1, k_2 q_2) - \frac{\alpha(k_1, k_2)}{1-2\alpha(k_1, k_2)} v(k_1 q_1, k_2) \\
 &- \frac{\alpha(k_1, k_2)}{[1-2\alpha(k_1, k_2)] \prod_{r=1}^m [1-2\alpha(\frac{k_1}{q_1}, k_2 q_2^{r-1})]} v(\frac{k_1}{q_1}, k_2 q_2^m) \\
 &+ \sum_{r=1}^m \frac{[\alpha(k_1, k_2)] [\alpha(\frac{k_1}{q_1}, k_2 q_2^{r-1})]}{[1-2\alpha(k_1, k_2)] \prod_{s=1}^r [1-2\alpha(\frac{k_1}{q_1}, k_2 q_2^{s-1})]} \left\{ v(\frac{k_1}{q_1}, k_2 q_2^{(r-1)}) + v(k_1, k_2 q_2^{(r-1)}) \right\}. \quad (17)
 \end{aligned}$$

$$\begin{aligned}
 \text{(iv) } v(k_1, k_2) &= \frac{1}{1-2\alpha(k_1, k_2)} v(k_1, k_2 q_2) - \frac{\alpha(k_1, k_2)}{1-2\alpha(k_1, k_2)} v(\frac{k_1}{q_1}, k_2) \\
 &- \frac{\alpha(k_1, k_2)}{[1-2\alpha(k_1, k_2)] \prod_{r=1}^m [1-2\alpha(k_1 q_1, k_2 q_2^{r-1})]} v(k_1 q_1, k_2 q_2^m) \\
 &+ \sum_{r=1}^m \frac{\alpha(k_1, k_2) \alpha(k_1 q_1, k_2 q_2^{r-1})}{[1-2\alpha(k_1, k_2)] \prod_{s=1}^r [1-2\alpha(k_1 q_1, k_2 q_2^{s-1})]} \left\{ v(k_1, k_2 q_2^{(s-1)}) + v(k_1 q_1, k_2 q_2^{(s-1)}) \right\}. \quad (18)
 \end{aligned}$$

Proof. (i) From the linearity of Δ_{q_2, q_1}^{-1} and (3), we have

$$v(k_1, k_2) - v(k_1, \frac{k_2}{q_2^m}) = \alpha(k_1, k_2) \sum_{r=1}^m \left\{ u(k_1, k_2 q_2^{-r}) + w(k_1, k_2 q_2^{-r}) \right\}. \quad (19)$$

From the experimental value, we take

$$\Delta_{q_1^{-1} \wedge 1} v(k_1, k_2) = u(k_1, k_2), \quad \Delta_{q_1 \wedge 1} v(k_1, k_2) = w(k_1, k_2). \quad (20)$$

Equation (20) is the solution of Heat Equation (3).

In (19), $u(k_1, k_2 q_2^{-r})$ is obtained by replacing k_2 by $k_2 q_2^{-r}$ in (20).

Substituting (20) in (19), we get (15). (ii) From the q -Heat equation (3), we have

$$v(k_1, k_2) = \frac{1}{1-2\alpha(k_1, k_2)} v(k_1, k_2 q_2) - \frac{\alpha(k_1, k_2)}{1-2\alpha(k_1, k_2)} v(\frac{k_1}{q_1}, k_2) - \frac{\alpha(k_1, k_2)}{1-2\alpha(k_1, k_2)} v(k_1 q_1, k_2) \quad (21)$$

Replacing k_2 by $(k_2 q_2)$ in (21), repeating the process we get (16).

(iii) Replacing k_1 by $(\frac{k_1}{q_1})$ in (21), we get (17).

(iv) Replacing k_1 by $(k_1 q_1)$ in (21), we get (18).

Corollary 4.2. 12 Let $q_2 \neq 0$ and $q_2 \neq 1$. Then we have

$$\left\{ \frac{k_1 + k_2}{q_2 - 1} + \frac{\log(k_2 k_1)}{\log q_2} \right\} - \left\{ \frac{k_1 + \frac{k_2}{q_2^m}}{q_2 - 1} + \frac{\log(\frac{k_1 k_2}{q_2^m})}{\log q_2} \right\} = \sum_{r=1}^m \left\{ (k_2 q_2^{-r}) + 1 \right\}. \quad (22)$$

Proof. The proof of (22) follows by taking $v(k_1, k_2) = \frac{k_1 + k_2}{q_2 - 1}$, $u(k_1, k_2) = k_2$, $w(k_1, k_2) = 1$ in (19).

Example 4.3.13 Taking $k_2 = 0.2$, $k_1 = 0.3$, $q_2 = 2$, $m = 2$ in (22), we get $2.15 = 2.15$.

Corollary 4.4. 14 Let $q_1 \neq 0$, $1 - 2\alpha(k_1, k_2) \neq 0$ and $1 - 2\alpha(k_1, k_2 q_2) \neq 0$. Then

$$k_1 k_2 = \frac{1}{[1 - 2\alpha(k_1, k_2)][1 - 2\alpha(k_1, k_2 q_2)]} (k_1 k_2 q_2^2) - \frac{\alpha(k_1, k_2)}{[1 - 2\alpha(k_1, k_2)][1 - 2\alpha(k_1, k_2 q_2)]} \left\{ \left(\frac{k_1}{q_1} k_2 q_2 \right) + (k_1 q_1 k_2 q_2) \right\} - \frac{\alpha(k_1, k_2)}{[1 - 2\alpha(k_1, k_2)]} \left\{ \left(\frac{k_1}{q_1} k_2 \right) + (k_1 q_1 k_2) \right\}. \quad (23)$$

Proof. Taking $v(k_1, k_2) = k_1 k_2$ and $m = 2$ in (16), we get (23).

Example 4.5.15 Taking $k_1 = 4$, $k_2 = 2$, $q_1 = 3$, $q_2 = 2$ in, we get $8 = 8$

Corollary 4.6. 16 Let $\alpha(k_1, k_2) \neq \frac{1}{2}$ and $\alpha\left(\frac{k_1}{q_1}, k_2\right) \neq \frac{1}{2}$. Then we have

$$k_1 k_2 = \frac{1}{1 - 2\alpha(k_1, k_2)} (k_1 k_2 q_2) - \frac{\alpha(k_1, k_2)}{[1 - 2\alpha(k_1, k_2)][1 - 2\alpha\left(\frac{k_1}{q_1}, k_2\right)]} \left(\frac{k_1}{q_1} k_2 q_2 \right) + \frac{\alpha(k_1, k_2) \alpha\left(\frac{k_1}{q_1}, k_2\right)}{[1 - 2\alpha(k_1, k_2)][1 - 2\alpha\left(\frac{k_1}{q_1}, k_2\right)]} \left\{ \left(\frac{k_1^2}{q_1} k_2 \right) + (k_1 k_2) \right\} - \frac{\alpha(k_1, k_2) \alpha\left(\frac{k_1}{q_1}, k_2\right)}{1 - 2\alpha(k_1, k_2)} (k_1 q_1 k_2). \quad (24)$$

Proof. Taking $v(k_1, k_2) = k_1 k_2$ and $m = 1$ in (17), we get (24).

Example 4.7.17 Taking $k_1 = 4$, $k_2 = 2$, $q_1 = 3$, $q_2 = 2$, in (24), we get $8 = 8$

Corollary 4.8.18 Let $1 - 2\alpha(k_1, k_2) \neq 0$ and $1 - 2\alpha(k_1 q_1, k_2) \neq 0$. Then we have

$$k_2 k_1 = \frac{1}{1 - 2\alpha(k_1, k_2)} (k_1 k_2 q_2) - \frac{\alpha(k_1, k_2)}{1 - 2\alpha(k_1, k_2)} \left(\frac{k_1}{q_1} k_2 \right) - \frac{\alpha(k_1, k_2)}{1 - 2\alpha(k_1, k_2)} (k_1 q_1 k_2 q_2) + \frac{\alpha(k_1, k_2) \alpha(k_1 q_1, k_2)}{[1 - 2\alpha(k_1, k_2)][1 - 2\alpha(k_1 q_1, k_2)]} \left\{ k_2 k_1 + k_2 k_1 q_1^2 \right\}. \quad (25)$$

Proof. Taking $v(k_1, k_2) = k_2 k_1$ and $m = 1$ in (18), we get (25).

Example 4.9.19 Let $k_2 = 2$, $k_1 = 4$, $q_2 = 2$, $q_1 = 3$ in (25), we get $8 = 8$.

Conclusion: In the above study, the heat equation model is studied using generalized q -difference operator. We can say that the above research helps us in reducing any wastage of heat and also enables us in making a optimal choice.

REFERENCES

- [1]. Jerzy Popenda and Blazej Szmanda, *On the Oscillation of Solutions of Certain Difference Equations*, Demonstratio Mathematica, XVII(1)(1984), 153-164.
- [2]. K.S.Miller and B.Ross, *Fractional Difference Calculus in Univalent Functions*, Horwood, Chichester, UK, (1989), 139-152.

- [3]. N. R. O. Bastos, R. A. C. Ferreira, and D. F. M. Torres, *Discrete-Time Fractional Variational Problems, Signal Processing*, vol.91,no. 3,pp. 513-524, 2011.
- [4]. R. A. C. Ferreira and D. F. M. Torres, *Fractional h -difference equations arising from the calculus of variations, Applicable Analysis and Discrete Mathematics*, 5(1) (2011), 110-121.
- [5]. M.Maria Susai Manuel, V.Chandrasekar and G.Britto Antony Xavier, *Solutions and Applications of Certain Class of α - Difference Equations*, International Journal of Applied Mathematics, 24(6) (2011), 943-954.
- [6]. M. Maria Susai Manuel, Britto Antony Xavier.G, Chandrasekar.V and Pugalarasu.R, *Theory and application of the Generalized Difference Operator of the n^{th} kind(Part I)*, Demonstratio Mathematica, 45(1)(2012), 95-106.
- [7]. G. Britto Antony Xavier, T.G. Gerly and H. Nasira Begum, *Finite Series of Polynomials and Polynomial Factorials Arising From Generalized q -Difference Operator*, Far East Journal of Mathematical Sciences, 94(1)(2014), 47-63.

International Journal of Computational Engineering Research (IJCER) is UGC approved Journal with Sl. No. 4627, Journal no. 47631.

G.Britto Antony Xavier "Solutions Of Heat Equation Arrived From q -Difference Operator." International Journal of Computational Engineering Research (IJCER), vol. 7, no. 12, 2017, pp. 61-67.